
CHEMISTRY

BOOKS - GR BATHLA & SONS CHEMISTRY

(HINGLISH)

AMINES

Level 1 (Q.1 To Q.25)

1. Acetamide is treated separately with the following

reagens. Which one of these given methylamine?

A. 

B. Sodalime

PCI5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IkGDVSttuGCr


C. 

D. Hot concentrated 

Answer: C

Watch Video Solution

NaOH + Br2

H2SO4

2. Reaction of  with a mixture of  and 

gives  as the main product. The intermediates

involved in the reaction are:

A. 

B. 

C. 

RCONH2 Br2 KOH

RNH2

R −

OH

∣

C = N − Br

R − NHBr

R − N = C = O

https://dl.doubtnut.com/l/_IkGDVSttuGCr
https://dl.doubtnut.com/l/_dLjx9L8OtKSM


D. 

Answer: C

Watch Video Solution

3. Which is the best method of preparing  amine ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2∘

CH3CI + NH3 →

CH3CI
KCN
−−→

Sn/HCI

−−−−−→

CH3CI
KCN
−−→

LiAIH4

−−−−→

CH3NH2

CHCI3 /KOH

−−−−−−−−→
Δ

Sn/HCI

−−−−−→

https://dl.doubtnut.com/l/_dLjx9L8OtKSM
https://dl.doubtnut.com/l/_y7ib0I6tqKdg


Watch Video Solution

4. Ethyl cyanide (A) can be converted to ethyl amine (B) by:

A. 

B. 

C. 

D. both (a),(c) are correct

Answer: B

Watch Video Solution

A
Sn/HCI

−−−−−→ B

A
H3O

+

−−−→
NH3 / Δ
−−−−→

KBrO/ Δ
−−−−−→ B

A
LiAIH4

−−−−→ B

5. In Gabriel synthesis, amine is always:

https://dl.doubtnut.com/l/_y7ib0I6tqKdg
https://dl.doubtnut.com/l/_jTs3pQrgHwG5
https://dl.doubtnut.com/l/_mICiEubz2jsr


A. alphatic primary amine

B. aliphatic secondary amine

C. aromatic primary amine

D. aromatic secondary amine

Answer: A

Watch Video Solution

6. In Gabriel synthesis, halide may be:

A. benzyl halide

B. allyl halide

C. both (a), (c) are correct

https://dl.doubtnut.com/l/_mICiEubz2jsr
https://dl.doubtnut.com/l/_QjVRrTuum6uE


D. tertiary alkyl halide

Answer: C

Watch Video Solution

7. In the given reaction sequence

will be:

A. 

B. 

C. 

D. 

C6H5 − CH2 − NH2

CHCl3 /Alc .KOH

−−−−−−−−−−−→
Δ

[X]
H2O/NaOH

−−−−−−−→ [Y ], [Y ]

C6H5 − CN

C6H5NC

C6H5 − CH2 − NH2

C6H5 − CH2OH

https://dl.doubtnut.com/l/_QjVRrTuum6uE
https://dl.doubtnut.com/l/_fuykZF5NPLT5


Answer: C

Watch Video Solution

8. Predict the nature of the product

A. 

B. 

C. 

D. All of these

Answer: C

Watch Video Solution

PC6H5CONH2

Br2 /PD−

−−−−−→ P

C6H5NH2

C6H5NHD

C6H5ND2

https://dl.doubtnut.com/l/_fuykZF5NPLT5
https://dl.doubtnut.com/l/_xDyCEZtjDIlc


9. Which of the following statement is not correct?

A. Aliphatic amines are stronger bases than ammonia

B. Aromatic amines are stronger bases than ammonia

C. The alkyl group in alkyl ammonium ion more

stabilizes the ion relative to the amine

D. The aryl group in aryl ammonium ion less stabilizes

the ion relative to the amine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_I2I0cWA41Efd


10. The correct sequence regarding base strength of

aliphatic amines in aqueous solution is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

R3N > R2NH > RNH2 > NH3

R2NH > RNH2 > R3N > NH3

R2NH > R3N > RNH2 > NH3

RNH2 > R2NH > R3N > NH3

11. Decreasing order of basicity of the three isomers of

nitro aniline is:

https://dl.doubtnut.com/l/_sXVpi2qtsise
https://dl.doubtnut.com/l/_RwGE6IWKbtS7


A. p-nitroaniline -nitroaniline -nitroaniline

B. p-nitroaniline -nitroaniline -nitroalinine

C. m-nitroaniline nitroaniline 

nitroaniline

D. m-nitroaniline  nitroaniline 

nitroaniline

Answer: C

Watch Video Solution

> o > m

> m > o

> p − > o −

> o − > p −

12. Strongest base is:

A. 

https://dl.doubtnut.com/l/_RwGE6IWKbtS7
https://dl.doubtnut.com/l/_6drh8sACfzj5


B. 

C. 

D. 

Answer: A

Watch Video Solution

13. Which is the best leaving group ?

A. 

B. 

C. 

−
⊕

N ≡ N

OH −

NH −
2

https://dl.doubtnut.com/l/_6drh8sACfzj5
https://dl.doubtnut.com/l/_18vvSlqRReU6


D. 

Answer: A

Watch Video Solution

CH3COO
−

14. Which is most volatile ?

A. 

B. 

C. 

D. 

Answer: B

h id l i

CH3CH2CH2NH2

(CH3)3N

CH3OH

https://dl.doubtnut.com/l/_18vvSlqRReU6
https://dl.doubtnut.com/l/_37ZG3pzU54L9


Watch Video Solution

15. Which one of the following is used as phase transfer

catalyst?

A. Primary amine

B. Quaternary ammonium salt

C. Tertiary nitroalkane

D. Tertiary amine

Answer: B

Watch Video Solution

16. Which of the following is most basic?

https://dl.doubtnut.com/l/_37ZG3pzU54L9
https://dl.doubtnut.com/l/_RyXZmhmKVxI7
https://dl.doubtnut.com/l/_Yvd6upkIit9C


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

17. Predict about the relative boiling point of the following

two amines. 

https://dl.doubtnut.com/l/_Yvd6upkIit9C
https://dl.doubtnut.com/l/_Jn5g3uMymAve


A. Boiling point of 

B. Boling point of 

C. Both should have equal boiling points

D. It can't be predicted

Answer: B

Watch Video Solution

I > II

II > I

18. Carbylamine test is performed in alcoholic  by

heating a mixture of:

A. chloroform and silver silver powder

KOH

https://dl.doubtnut.com/l/_Jn5g3uMymAve
https://dl.doubtnut.com/l/_AukqYCxl2bbn


B. chloroform and a primary amine

C. an alkyl halide and a primary amine

D. an alkyl cyanide and a primary amine

Answer: B

Watch Video Solution

19. Which of the following compounds is an imine ?

A. 

B. 

C. 

Ph −

O

∣ ∣

C − NH2

CH3 − CH2 − N = CH2

https://dl.doubtnut.com/l/_AukqYCxl2bbn
https://dl.doubtnut.com/l/_wfVUAcDPHH89


D. 

Answer: B

Watch Video Solution

20. Which of the following statements is not correct?

A. Primary amines show intermolecular hydrogen

bonding.

B. Secondary amines show intermolecular hydrogen

bonding

C. Tertiary amines show intermolecular hydrogen

bonding

https://dl.doubtnut.com/l/_wfVUAcDPHH89
https://dl.doubtnut.com/l/_pZ2JKRSa6Add


D. Amines have lower boiling points as compared to

those of alcohols and carboxylic acids of comparable

molar masses.

Answer: C

Watch Video Solution

21. Which of the following amines form  nitroso

derivative when treated with  and ?

A. 

B. 

C. 

N −

NaNO2 HCI

CH3NH2

https://dl.doubtnut.com/l/_pZ2JKRSa6Add
https://dl.doubtnut.com/l/_JoGFwZMjnYqA


D. 

Answer: C

Watch Video Solution

22. Hinsberg's reagent is:

A. phenylisocyanide

B. benzensulphonyl chloride

C. p-toluenesulphonic acid

D. o-dichlorobenzene

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JoGFwZMjnYqA
https://dl.doubtnut.com/l/_QFKSQUA0lMKc


23. Which of the following compounds is an emamine?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ph − N = N − Ph

Ph − N = N − H

https://dl.doubtnut.com/l/_QFKSQUA0lMKc
https://dl.doubtnut.com/l/_tFteuweoYSDI


24. Complete the following reaction

A. Hofmann elimination

B. Cope reaction

C. Saytzeff reaction

D. Carbyl amine reaction

Answer: B

Watch Video Solution

25. Cope reaction is:

https://dl.doubtnut.com/l/_Qm4vhTukJusR
https://dl.doubtnut.com/l/_xQmJcwyxTq9h


Level 1 (Q.26 To Q.41)

A.  intramolecular

B.  intramolecular

C.  intramolecular

D.  or  intramolecular

Answer: D

Watch Video Solution

SN1

SN2

E1

Ec Ei

1. Which of the following is Hofmann mustard oil reaction?

A. Reaction of primary amine with 

B. Reaction of primary amine with 

CHCI3

CHCI3 + KOH

https://dl.doubtnut.com/l/_xQmJcwyxTq9h
https://dl.doubtnut.com/l/_P7jK5JXjVvvb


C. Reaction of primary amine with 

D. Reaction of armoatic amine with iodoform

Answer: C

Watch Video Solution

CS2 + HgCI2

2.  final

product B is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_P7jK5JXjVvvb
https://dl.doubtnut.com/l/_2XzBVX2vp3wT


Answer: B

Watch Video Solution

3. In the Hofmann-Bromamide rearrangement intermediate

compounds are:

A. 

B. 

C. 

D. all of these

Answer: D

Watch Video Solution

R − CONHBr

⎡
⎢⎢
⎣
R −

O

∣ ∣

C − ¯̄̄N̄ − Br

⎤
⎥
⎥
⎦
Na+

R − N = C = O

https://dl.doubtnut.com/l/_2XzBVX2vp3wT
https://dl.doubtnut.com/l/_mi1USZU5KNMc


4.  

Product

HCI
−−−−→
( 1Mole)

https://dl.doubtnut.com/l/_mi1USZU5KNMc
https://dl.doubtnut.com/l/_PUJ58fmtIy8z


A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_PUJ58fmtIy8z


Watch Video Solution

5. Which of the following compounds can form alcohol

with ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

NaNO2 /HCl

CH3 − CH2 − NH2

https://dl.doubtnut.com/l/_PUJ58fmtIy8z
https://dl.doubtnut.com/l/_w9Xz1A9wPQDw
https://dl.doubtnut.com/l/_Z4cOOdBhG8h7


6. Which of the following will not react with ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CS2

C6H5 − NH2

CH5 − NH − CH3

7. In the given reaction

is the major product, [X] will be:

CH3 − CH2 − NH − CH2 − CH2 − CI
( i )CH3I ( excess )
−−−−−−−−−−→

( ii )AgOH / Δ
[X]

https://dl.doubtnut.com/l/_Z4cOOdBhG8h7
https://dl.doubtnut.com/l/_o5ARSkxMHwpK


A. 

B. 

C.  ratio of (a) and (b)

D. 

Answer: B

Watch Video Solution

CH2 = CH2

CH2 = CHCI

1: 1

CH3 − CH2 − CI

8. Predict the nature of P in the following reaction:

 (main product)

A. 

B. 

Me3CCH2NH2

HOMO
−−−−→ P

Me3CCH2OH

Me2CCH = CH2

https://dl.doubtnut.com/l/_o5ARSkxMHwpK
https://dl.doubtnut.com/l/_PGZicW1tfbD3


C. 

D. 

Answer: C

Watch Video Solution

Me2C(OH)C2H5

Me3CCH2NH(NO)

9.  Here X

is:

A. 

B. 

https://dl.doubtnut.com/l/_PGZicW1tfbD3
https://dl.doubtnut.com/l/_BYq1gEiOiIC8


C. 

D. 

Answer: C

Watch Video Solution

10. 

A. 

B. 

https://dl.doubtnut.com/l/_BYq1gEiOiIC8
https://dl.doubtnut.com/l/_qgA678zu2aUL


C. 

D. none of these

Answer: C

Watch Video Solution

11. Which of the following is an enamine?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_qgA678zu2aUL
https://dl.doubtnut.com/l/_CmeNExYeJPmx


Answer: B

Watch Video Solution

12. Which of the following amines will react with

cyclohexanone to give enamine?

A. 

B. 

C. 

D. 

CH3NH2

https://dl.doubtnut.com/l/_CmeNExYeJPmx
https://dl.doubtnut.com/l/_WF1bYQWn4Kt7


Answer: D

Watch Video Solution

13. The intermediates obtained in the reaction

 

 are:
NaN3

−−→
Heat

R − NH2

https://dl.doubtnut.com/l/_WF1bYQWn4Kt7
https://dl.doubtnut.com/l/_N6kF5NZmpqgR


A. 

B. 

C. 

D. none of these

Answer: A::B

Watch Video Solution

R −

O

∣ ∣

C − ¯̄̄N̄ −
⊕

N ≡ N

R − N = C = O

R − CNO

14. Compound  reacts with p-toluence

sulphonyl chloride in aqueous  to give a solid. The

compound [X] is:

A. 

[X]C4H11N

NaOH

CH3 − CH2 − CH2 − CH2 − NH2

https://dl.doubtnut.com/l/_N6kF5NZmpqgR
https://dl.doubtnut.com/l/_9FESDsH9cUle


B. 

C. 

D. 

Answer: D

Watch Video Solution

H3C − CH
∣

CH3

− CH2 − NH2

CH3CH2 − NH − CH2 − CH3

H3C − CH2 − N
∣

CH3

− CH3

15. Cyclohexanol can be converted into cyclohexylamine by

following two routes. Which of the following methods is

expected to give good yield of cyclohexyalmine?

A. 

B. 

https://dl.doubtnut.com/l/_9FESDsH9cUle
https://dl.doubtnut.com/l/_vgunwzkGtlpY


C. both are equally suitable

D. neither of the two

Answer: A

Watch Video Solution

16. Which of the following will give unsymmetrical di-

substituted urea after reaction with ?

A. 

B. 

C. 

D. all of these

CH3NH2

COCI2

CH3CH2NCS

CH3CH2NCO

https://dl.doubtnut.com/l/_vgunwzkGtlpY
https://dl.doubtnut.com/l/_gEjv8OacM8fX


Level 2 (Q.1 To Q.25)

Answer: C

Watch Video Solution

1. Which of the following compounds is an amine?

A. 

B. 

https://dl.doubtnut.com/l/_gEjv8OacM8fX
https://dl.doubtnut.com/l/_44SHVH75qYR7


C. 

D. 

Answer: C

Watch Video Solution

2. Which of following compounds exists as non-resolvable

racemic mixture?

https://dl.doubtnut.com/l/_44SHVH75qYR7
https://dl.doubtnut.com/l/_B4RPGF8Ioppy


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_B4RPGF8Ioppy


3. Which of the following compounds loses optical activity

due to pyramidal inversion?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qYiE03AlHLxO


4.  The final

product (B) is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HbxoRfitaVQd


5.  

The end product B of the above reaction is:

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_HbxoRfitaVQd
https://dl.doubtnut.com/l/_SUWA54vUNm3t


Watch Video Solution

6.  is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2Br
AgCN

−−−→ A
NaOH , Δ
−−−−−→

⊕
H3O

B, (B)

CH3CH2NHCH3

CH3CH2CH2NH2

CH3CH2NH2

https://dl.doubtnut.com/l/_SUWA54vUNm3t
https://dl.doubtnut.com/l/_1aGm9AIq1NTy


7. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ph − N
∣

H

− CH3

Ph − CH2 − NH2

Ph − N
∣

H

−

O

∣ ∣

C − H

Ph −
⊕

N ≡
Θ

C

https://dl.doubtnut.com/l/_ItxLCEldcSML


8. The major product formed in the reaction: 

 

A. 

B. 

C. 

p−TsOH ( Trace )
−−−−−−−−−−→

C6H6 . Δ

https://dl.doubtnut.com/l/_IEfyrW0DTST8


D. 

Answer: A

Watch Video Solution

9.  The final

product (Y) is:

A. 

https://dl.doubtnut.com/l/_IEfyrW0DTST8
https://dl.doubtnut.com/l/_gDChHMxcER7N


B. 

C. 

D. 

Answer: B

Watch Video Solution

10. Among the following compounds which one will

produce a Schiff base on reaction with cyclopentanone?

https://dl.doubtnut.com/l/_gDChHMxcER7N
https://dl.doubtnut.com/l/_PRNALbTCA3pA


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

11. In which of the following reactions does the amine

behaves as an acid ?

https://dl.doubtnut.com/l/_PRNALbTCA3pA
https://dl.doubtnut.com/l/_acTt2ysMHeg3


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(C2H5)2NH + H2PtCI6

CH3NH2 + H2O

(Me2CH)2NH + n − C4H9Li

(C2H5)3

. .

N + BF3

https://dl.doubtnut.com/l/_acTt2ysMHeg3


12. Consider the following sequence of reactions: 

 

 The end product (B) is:

A. 

B. 

CCI4

−−→
Δ

A
1 .CH2 =CH −CH2Br
−−−−−−−−−−−−−→

2 .H3O
⊕ , Δ

B

https://dl.doubtnut.com/l/_BcTubp4YSVUb


C. 

D. 

Answer: A

Watch Video Solution

13. Consider the following sequence of reactions : 

The end product (B) is:

A. 

B. 

H2C = CH − CH = CH2

Br1 ( 1mole )
−−−−−−→

CCI4

A
1 .KCN ( excess )
−−−−−−−−−→

2 .H2 ,NI
B

H2N − (CH2)
2

− CH = CH − (CH2)
2

− NH2

H2N − (CH2)
6

− NH2

https://dl.doubtnut.com/l/_BcTubp4YSVUb
https://dl.doubtnut.com/l/_1R3GAX4OWlyj


C. 

D. 

Answer: B

Watch Video Solution

NC − CH2 − CH = CH − CH2 − CN

H2C = CH − CH
∣

NH2

− (CH2)2 − NH2

14. 

The major product (B) is:

A. 

B. 

C. 

H3C − CH2 −

CH3

∣

CH − C
∣ ∣

O

− NH2

Br2 +KOH
−−−−−−→

Δ
A

1 .CH3I ( excess )
−−−−−−−−−→

2 .AgOH , Δ
B

CH3 − CH2 − CH = CH2

H3C − CH = CH − CH3

https://dl.doubtnut.com/l/_1R3GAX4OWlyj
https://dl.doubtnut.com/l/_cIRI31gwEu1e


D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cIRI31gwEu1e


15.  

 (Major product) 


The major product (B) is:

A. 

1 .Br2 ( 1mole) ,CCI4

−−−−−−−−−−−−−→
2 . (CH3 ) 2NH ( excess )

A
1 .CH3I ( excess )
−−−−−−−−−→

2 .AgOH , Δ
B

https://dl.doubtnut.com/l/_bo5VmO2EQyVk


B. 

C. 

D. 

Answer: C

Watch Video Solution

16. Consider the following sequence of reaction: 

 is:HO −

O

∣ ∣

C −

CH3

∣

C
∣

CH3

− C ≡ N
200 ∘C
−−−→ A

LiAIH4
−−−−→
H2O

B, (B)

https://dl.doubtnut.com/l/_bo5VmO2EQyVk
https://dl.doubtnut.com/l/_n0TIOVa1RB4a


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HO − H2C −

CH3

∣

C
∣

CH3

− CH2 − NH2

https://dl.doubtnut.com/l/_n0TIOVa1RB4a


17. The major product (X) of the reaction is: 

 

A. 

B. 

C. 

D. 

H2 ,Ni
−−−→

Δ
X

https://dl.doubtnut.com/l/_bYehbEKeXIri


Answer: C

Watch Video Solution

18. Which of the following compounds does not liberate 

on treatement with ?

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

N2

HNO2

H3C −

O

∣ ∣

C − NH2

H2N −

O

∣ ∣

C − NH2

H3C − N
∣

H

− CO3

https://dl.doubtnut.com/l/_bYehbEKeXIri
https://dl.doubtnut.com/l/_82mE2GU2G4pN


Watch Video Solution

19. The product formed in the reaction is: 

 

A. 

1 .LiAlH4
−−−−−→

2 .H2O

https://dl.doubtnut.com/l/_82mE2GU2G4pN
https://dl.doubtnut.com/l/_TGr0xkGXBBnQ


B. 

C. 

D. 

Answer: B

Watch Video Solution

H3C − N
∣

H

− (CH2)3 −

O

∣ ∣

C − H

H3C − N
∣

H

− (CH2)
3

− CH2OH

20. The major product (B) formed in the reaction sequence

is: 

https://dl.doubtnut.com/l/_TGr0xkGXBBnQ
https://dl.doubtnut.com/l/_bQiCKy6czdww


 

Ph−

O

∣ ∣

C −CI
−−−−−−−→
dil .NaOH

A
1 .CH3MgBr

−−−−−−−→
2 .H ⊕

3 O
B

https://dl.doubtnut.com/l/_bQiCKy6czdww


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ph −

O

∣ ∣

C − CH3

21. An organic compound (A) on reduction gives a

compound (B) which on reaction with  and CHCI3 NaOH

https://dl.doubtnut.com/l/_bQiCKy6czdww
https://dl.doubtnut.com/l/_sdEshb5akwgS


form (C). The compound (C) on catalytic reduction gives N-

methylaniline. The compound (A) is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sdEshb5akwgS


22. The major end product (B) of the reaction: 

 

A. 

B. 

C. 

HCI
−−−→
ZnCl2

A
1 .NaCN ( excess )
−−−−−−−−−−→

2 .H2 ,Ni
B

https://dl.doubtnut.com/l/_86cskF1F21Yc


D. 

Answer: C

Watch Video Solution

23. Which one among the following is expected to form a

secondary alcohol on treatment with ?

A. 

B. 

C. 

HNO2

https://dl.doubtnut.com/l/_86cskF1F21Yc
https://dl.doubtnut.com/l/_Xj9Q8mKPMrZU


D. 

Answer: C

Watch Video Solution

24. The end product (B) of the reaction sequence: 

A. 

B. 

C. 

C2H5 − N
∣

H

− CH3
Ph−

O

∣ ∣

C −Cl
−−−−−−→

NaOH
A

LiAlH4
−−−→
H2O

B

https://dl.doubtnut.com/l/_Xj9Q8mKPMrZU
https://dl.doubtnut.com/l/_ZKrkAtjtIOq1


D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZKrkAtjtIOq1


25.  

 The product of above reaction is:
1 .Br−

2 +KOH , Δ

−−−−−−−−−−→
2 .H3O⊕

https://dl.doubtnut.com/l/_oBQLHugGzCMH


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oBQLHugGzCMH


Level 2 (Q.26 To Q.50)

1. The major product (X) of the reaction is: 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_kDghQsi6muxZ


Answer: B

Watch Video Solution

2. The major product of the reaction is: 

A. 

B. 

https://dl.doubtnut.com/l/_kDghQsi6muxZ
https://dl.doubtnut.com/l/_nEGpKucgj3HL


C. 

D. 

Answer: C

Watch Video Solution

3. The reaction of p-aminophenol with one mole of actyl

chloride in presence of pyridine gives:

https://dl.doubtnut.com/l/_nEGpKucgj3HL
https://dl.doubtnut.com/l/_bUBgDCHRUSAC


A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_bUBgDCHRUSAC


Watch Video Solution

4. The major product (X) formed in the reaction: 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_bUBgDCHRUSAC
https://dl.doubtnut.com/l/_7QJxAtH9ib8E


D. 

Answer: A

Watch Video Solution

5. Which of the following is the stongest Bronsted acid?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_7QJxAtH9ib8E
https://dl.doubtnut.com/l/_Gi5GHYnFOltE


D. 

Answer: C

Watch Video Solution

6. Which of the following is the strongest Bronsted base?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Gi5GHYnFOltE
https://dl.doubtnut.com/l/_mVHGFapz06EQ


Answer: A

Watch Video Solution

7. Which of the following is the weakest Bronsted base?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mVHGFapz06EQ
https://dl.doubtnut.com/l/_27kZaXTbeWHU


8. Which of the following is stronger Bronsted base?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_27kZaXTbeWHU
https://dl.doubtnut.com/l/_4Gr9Uz5YgIQU


9. For the following compounds, which is the strongest

base and which is strongest acid? 

A. II = Strongest base, I = Strongest acid

B. IV=Stronger base, III=Stronger acid

C. III = Strongest base, IV = Strongest acid

D. II = Strongest base, III = Strongest acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_m11WpTInCcWU
https://dl.doubtnut.com/l/_9mc9I6dOXjrX


10. Which compound is the likely from following reaction? 

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_9mc9I6dOXjrX


Watch Video Solution

11. Which of these is the strongest base?

A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_9mc9I6dOXjrX
https://dl.doubtnut.com/l/_KhKZ8DzIYGb4


Watch Video Solution

12. What sequence of reaction would best accomplish the

following reaction? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

LiAIH4, 3CH3I/AgOH, Δ

LiAIH4, P2O5 /Δ

20 % H2SO4 /Δ, P2O5 /Δ

H2, Pd − BaSO4

https://dl.doubtnut.com/l/_KhKZ8DzIYGb4
https://dl.doubtnut.com/l/_kKvulkYzTXgF


13. What is the likely product from the following reaction? 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_MTL86eGXfYb8


D. 

Answer: B

Watch Video Solution

14. Repeated Hofmann elimination reaction (exhaustive

methylation followed by heating with  will often

remove a nitrogen atom from an amine molecule. Which of

the following compounds is the likely product in this case? 

AgOH)

https://dl.doubtnut.com/l/_MTL86eGXfYb8
https://dl.doubtnut.com/l/_OGs8K7II6L2L


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OGs8K7II6L2L


15. Only one of the following amines will lose its nitrogen

atom as trimethyl amine by repeated Hofmann elimination

reactions:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5jNH8E4sl5Kc


16. The nitrogan atom in each of the following tertiary

amines may be removed as trimethyl amine by repeated

Hoffmann elimination. Which of the following amines

requires the greater number of Hofmann sequence to

accomplish this?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_5jNH8E4sl5Kc
https://dl.doubtnut.com/l/_AyuuY7D5qkEp


Answer: A

Watch Video Solution

17. The Hinsberg test of a  compound produces a

solid that is insoluble in 10% aq. . This solid

derivative dissolves in  aq. . Which of the

following would best fit these facts ?

A. 

B. 

C. 

C5H14N2

NaOH

10 % H2SO4

https://dl.doubtnut.com/l/_AyuuY7D5qkEp
https://dl.doubtnut.com/l/_4wDIDdo9tZm5


D. 

Answer: B

Watch Video Solution

18. What set of conditions would be useful for preparing a

 amine?

A. 

B. 

C.  and 

D. 

2∘

2∘R − Br + NaNH2

22R − Br + NaN3, H2 /Pt

1∘R − NH2 + 1∘RCHO, H2 Pt

https://dl.doubtnut.com/l/_4wDIDdo9tZm5
https://dl.doubtnut.com/l/_Hq6WLkUL6tpm


Answer: C

Watch Video Solution

19. Which of the following amines reacts most rapidly with 

A. 

https://dl.doubtnut.com/l/_Hq6WLkUL6tpm
https://dl.doubtnut.com/l/_NIp52ZytOsLc


B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NIp52ZytOsLc


20. Consider the following sequence of reactions: 

 Identify

product C:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Q8pPiZeSLKM8


Answer: C

Watch Video Solution

21. The major product formed in the reaction is: 

A. 

B. H3C − CH = CD2

https://dl.doubtnut.com/l/_Q8pPiZeSLKM8
https://dl.doubtnut.com/l/_Mhe8jkwYBykx


C. 

D. 

Answer: C

Watch Video Solution

H2C = CH − CD3

H2C = N − CH3

22. The product formed in the reaction is : 

A. 

B. 

https://dl.doubtnut.com/l/_Mhe8jkwYBykx
https://dl.doubtnut.com/l/_vtTrwKGMux2a


C. 

D. 

Answer: B

Watch Video Solution

23.  Identify

B:

A. 

https://dl.doubtnut.com/l/_vtTrwKGMux2a
https://dl.doubtnut.com/l/_pAG68UOp48iJ


B. 

C. 

D. 

Answer: D

Watch Video Solution

24.  The

final product (B) is:

https://dl.doubtnut.com/l/_pAG68UOp48iJ
https://dl.doubtnut.com/l/_EultwMPHW6Sg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EultwMPHW6Sg


25. The final major product of the reaction is: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ph −

OH

∣

C
∣

Ph

− CH
∣

 NH2

− CH3

NaNO2 +HCI
−−−−−−−−→

Ph −

OH

∣

C
∣

Ph

−

O

∣ ∣

C − CH3

Ph −

 OH
∣

C
∣

Ph

−

 OH
∣

C
∣

 CH3

− CH3

https://dl.doubtnut.com/l/_VuCP8jQH5R9X


Level 2 (Q.51 To Q.75)

1. The major product of the reaction: 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_j1rJoDimZiQ2


D. 

Answer: D

Watch Video Solution

2. The end product of the following reaction is: 

A. 

B. 

https://dl.doubtnut.com/l/_j1rJoDimZiQ2
https://dl.doubtnut.com/l/_fttltwX9Yb8S


C. 

D. 

Answer: A

Watch Video Solution

3. Consider the following sequence of reactions: 

 


The products (B) and (C) are:

A. 

B. 

https://dl.doubtnut.com/l/_fttltwX9Yb8S
https://dl.doubtnut.com/l/_yUES4fiPoLIq


C. 

D. 

Answer: B

Watch Video Solution

4. Which of the following compounds will react with

cyclopentanone to form an enamine?

A. 

B. 

https://dl.doubtnut.com/l/_yUES4fiPoLIq
https://dl.doubtnut.com/l/_8ZB5DQUHS6DA


C. 

D. 

Answer: C

Watch Video Solution

5. Predict the major product 'X' in the following reaction: 

https://dl.doubtnut.com/l/_8ZB5DQUHS6DA
https://dl.doubtnut.com/l/_61LMi7yT0rqL


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_61LMi7yT0rqL


6.  Product

of this reaction is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_t7pa6YSG6kJx


7. 

Compound B is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3YNl6dcrp3oh


8.  Product

(X) is :

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_92T26hqRGYFi


Watch Video Solution

9. Find the final product of the reaction 

A. 

B. 

https://dl.doubtnut.com/l/_92T26hqRGYFi
https://dl.doubtnut.com/l/_TuzJtxCGkYtd


C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TuzJtxCGkYtd


10.  Product

(Y) of the reaction:

A. 

B. 

C. Mixture of (a) and (b)

D. 

Answer: A

https://dl.doubtnut.com/l/_eY3sZ7dERRgI


Watch Video Solution

11. Complete the following reaction

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_eY3sZ7dERRgI
https://dl.doubtnut.com/l/_VU2pnb2B3Xer


Answer: B

Watch Video Solution

12. Predict the product of following reaction: 

A. 

B. 

https://dl.doubtnut.com/l/_VU2pnb2B3Xer
https://dl.doubtnut.com/l/_jFHwB3Mj5CYa


C. 

D. 

Answer: D

Watch Video Solution

13.  


The product M is:

https://dl.doubtnut.com/l/_jFHwB3Mj5CYa
https://dl.doubtnut.com/l/_3tLA4ircrz2s


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3tLA4ircrz2s


14.  


Final product 'O' is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_4aLa0ByeM7Ru


Answer: C

Watch Video Solution

15. Consider the following diazonium ion: 

 


The order of reactivity towards diazo coupling with phenol

in presence of dil. NaOH:

A. 

B. 

C. 

P > Q > R > S

Q > S > R > P

P > R > S > Q

https://dl.doubtnut.com/l/_4aLa0ByeM7Ru
https://dl.doubtnut.com/l/_2is6E1wIjZFx


D. 

Answer: B

Watch Video Solution

S > R > Q > P

16. Reaction I  


Reaction II  

Products A and B are:

A.  and 

B.  and 

C. Both 

D. Both 

Ph −

O

∣ ∣

C − NH2

Θ

OD ,Br2

−−−−→ A

Ph −

O

∣ ∣

C − ND2

Θ
OH ,Br2

−−−−→ B

Ph − NH2 Ph − ND2

Ph − ND2 Ph − NH2

Ph − NH2

Ph − ND2

https://dl.doubtnut.com/l/_2is6E1wIjZFx
https://dl.doubtnut.com/l/_rV5vCKree0S7


Answer: B

Watch Video Solution

17. An organic compound (A)  dissolves in dil. 

and releases  with  giving an optically active

alcohol. Alcohol ox oxidation gives dicarboxylic acid, which

on heating form anhydride. The organic compound 'A' is:

A. 

B. 

C9H13N HCI

N2 HNO2

https://dl.doubtnut.com/l/_rV5vCKree0S7
https://dl.doubtnut.com/l/_sDTLx21D36kI


C. 

D. 

Answer: C

Watch Video Solution

18.  


The final product is:

https://dl.doubtnut.com/l/_sDTLx21D36kI
https://dl.doubtnut.com/l/_qGKpoLA6xcXB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qGKpoLA6xcXB


19. Identify 'X' in the following sequence of reaction: 

A. Benzoic acid

B. Phenyl acetic acid

C. Benzyl alcohol

D. Benzamide

Answer: C

Watch Video Solution

20. Which sequence of steps will be able to produce 3,3'-

dinitro-biphenyl from benzene?

https://dl.doubtnut.com/l/_zT87jRuzbuqF
https://dl.doubtnut.com/l/_JYAs0DoXzsr6


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

HNO3 /H2SO4, CI2 /FeCI3, Na/ether

CI2 /FeCI3, HNO3, H2SO4, Na/ether

CI2 /FeCI3, H2SO4, Na/ether

I2 /HIO3, CI2 /FeCI3, C6H5NO2

21.  and  nitroalkane can be identified by action of:

A.  (aq).

B.  (aq)

C.  (aq)

1∘ , 2∘ 3∘

HNO3 + NaOH

CHCI3 + NaOH

HNO2 + NaOH

https://dl.doubtnut.com/l/_JYAs0DoXzsr6
https://dl.doubtnut.com/l/_fFAt1LogwteZ


D.  (aq.)

Answer: C

Watch Video Solution

CHCI3 + KOH

22. A compound 'X' when reacted with  and then with 

 gives 'Y'. When 'Y' treated with  and KOH

produced 'Z'. Z on treatement with  at 

 and then boiling produced ortho-cresol. Compound

'X' is:

A. o-toluic acid

B. o-chlorotoluene

C. o-bromotoluene

PCI5

NH3 Br2

NaNO2 + HCI

0∘C

https://dl.doubtnut.com/l/_fFAt1LogwteZ
https://dl.doubtnut.com/l/_rWVynBkt2l7w


D. m-toluic acid

Answer: A

Watch Video Solution

23.  


For such kind of diazo- coupling reaction the suitable

substituents P and S are respectively:

A.  and 

B.  and 

C.  and 

D. 

−NH2 −OCH3

−NO2 −

O

∣ ∣

C − H

−NH2 −NHCH3

https://dl.doubtnut.com/l/_rWVynBkt2l7w
https://dl.doubtnut.com/l/_85Oy2K60v9Lb


Answer: D

Watch Video Solution

24.  


Identify 'B':

A. 

B. 

C. 

https://dl.doubtnut.com/l/_85Oy2K60v9Lb
https://dl.doubtnut.com/l/_uZHrBU9Q0BdF


D. 

Answer: D

Watch Video Solution

25. The final product B obtained in the reaction is: 

A. 

B. 

C. 

(H2C = CH)2

H3C − CH = CH − CH2

https://dl.doubtnut.com/l/_uZHrBU9Q0BdF
https://dl.doubtnut.com/l/_J7ICuzyd8xg4


Level 2 (Q.76 To Q.89)

D. 

Answer: A

Watch Video Solution

1.  


Find out Y of the reaction :

A. 

https://dl.doubtnut.com/l/_J7ICuzyd8xg4
https://dl.doubtnut.com/l/_QXYivQRCaX6S


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QXYivQRCaX6S


2.  


The compound C is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PNLgVjopCLib


3.  


The compound B is:

A. 

B. 

C. 

https://dl.doubtnut.com/l/_PNLgVjopCLib
https://dl.doubtnut.com/l/_zPHkaIqNiM8e


D. 

Answer: D

Watch Video Solution

4. 

https://dl.doubtnut.com/l/_zPHkaIqNiM8e
https://dl.doubtnut.com/l/_4rGObGCu6Zvm


A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_4rGObGCu6Zvm


Watch Video Solution

5. Identify the final product of following reaction: 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_4rGObGCu6Zvm
https://dl.doubtnut.com/l/_Hm644ZKQN6Vu


Answer: B

Watch Video Solution

6. Consider the following sequence of reaction: 

 


The final product is:

A. 

B. 

https://dl.doubtnut.com/l/_Hm644ZKQN6Vu
https://dl.doubtnut.com/l/_bgGIthAdlCif


C. 

D. 

Answer: B

Watch Video Solution

7.  


The product can be given as:

https://dl.doubtnut.com/l/_bgGIthAdlCif
https://dl.doubtnut.com/l/_PBmMhszMgNtf


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

8. In a set of reactions acid yielded a compound D. 

 


https://dl.doubtnut.com/l/_PBmMhszMgNtf
https://dl.doubtnut.com/l/_AsfBpUdcavt6


The strucuture of D would be :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AsfBpUdcavt6


9. What would be the final product of reaction? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wfUn3EwM7GUY


10. Identify major product of following sequence of

reaction: 

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_LWjv5PExuvBy


Watch Video Solution

11. Identify the final producy of following sequence of

reaction: 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_LWjv5PExuvBy
https://dl.doubtnut.com/l/_ao42Xb4P3HTx


D. 

Answer: B

Watch Video Solution

12. Identify the major product of following reaction: 

A. 

B. 

https://dl.doubtnut.com/l/_ao42Xb4P3HTx
https://dl.doubtnut.com/l/_o9CzlOREArMi


C. 

D. none of these

Answer: C

Watch Video Solution

13. Identify final product of following sequence of reaction: 

A. 

https://dl.doubtnut.com/l/_o9CzlOREArMi
https://dl.doubtnut.com/l/_U3ngDD2bLyJf


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_U3ngDD2bLyJf


14. What is the product of following reaction sequence? 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_htQOJB2kHpTH


More Than One Correct (Q.1 To Q.25)

D. 

Answer: B

Watch Video Solution

1. The presence of primary amine can be confirmed by its

reaction with:

A. HNO2

https://dl.doubtnut.com/l/_htQOJB2kHpTH
https://dl.doubtnut.com/l/_mUlTKILUJGt6


B. 

C.  and 

D. 

Answer: A::B::C

Watch Video Solution

CHCI3 + NaOH

CS2 HgCI2

H2SO4

2. Which of the following reactions can be used to make

ethyl isocyanide?

A. 

B. 

C. 

CH3CH2NH2 + CHCI3

KOH
−−→

Δ

CH3CH2Br + AgCN →

CH3CH2 − NH − C
∣ ∣

O

− H
POCI3

−−−→

https://dl.doubtnut.com/l/_mUlTKILUJGt6
https://dl.doubtnut.com/l/_J3NtGpqiGERp


D. 

Answer: A::B::C

Watch Video Solution

CH3CH2Br + KCN →

3. By which of the following reactions can methylcyanide be

prepared?

A. 

B. 

C. 

D. 

Answer: A::C::D

CH3Br
KCN
−−→
DMF

CH3NH2 + CHCI3

KOH
−−→

CH3 − CH = N − OH
P2O5

−−→
Δ

CH3 −

O

∣ ∣

C − NH2

P4O10

−−→
Δ

https://dl.doubtnut.com/l/_J3NtGpqiGERp
https://dl.doubtnut.com/l/_UAxbnKRiWJsA


Watch Video Solution

4. Which of the following compounds react with ?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

HNO2

https://dl.doubtnut.com/l/_UAxbnKRiWJsA
https://dl.doubtnut.com/l/_yjiCACqTTdI4
https://dl.doubtnut.com/l/_SeVt7qbL0Zmi


5. Consider the following reaction: 

 


The staring substance 'A' can be:

A. 

B. 

https://dl.doubtnut.com/l/_SeVt7qbL0Zmi


C. 

D. 

Answer: A::B::D

Watch Video Solution

6.  Products 


Reaction is assumed to involve nitrene as intermediate,

then various possible products are:

C6H5 − CH2 − I
NaN3
−−→

Δ

https://dl.doubtnut.com/l/_SeVt7qbL0Zmi
https://dl.doubtnut.com/l/_pw7NE5PdOCkd


A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

C6H5CN2NH2

C6H5N = CH2

C6H5CN = NH

7. Which of the following can give  amine?

A. 

B. 

1∘

Ph −

CH3

∣

CH − OH
NaCN ,H ⊕

−−−−−−→

Ph − CH = CH −

O

∣ ∣

C − NH2

NaOCI
−−−−→
CH3OH

https://dl.doubtnut.com/l/_pw7NE5PdOCkd
https://dl.doubtnut.com/l/_MJgTyGg6TZiM


C. 

D. 

Answer: B::C::D

Watch Video Solution

Ph − C ≡ C −

O

∣ ∣

C − NH2

NaOBr
−−−→

Ph −

O

∣ ∣

C − CI
NaN3
−−→

Δ

LiAIH4
−−−−→

8. Which of the following can distinguish? 

 and 

A. 

B. 

C. 

D. 

CH3 −

CH3

∣

CH − NH2 CH3 −

H

∣

N − CH3

(COOC2H5)2

NaNO2 + HCI

Cs2, HgCI2

Ag2O/Δ

https://dl.doubtnut.com/l/_MJgTyGg6TZiM
https://dl.doubtnut.com/l/_oGTgnhTM6IS7


Answer: A::B::C

Watch Video Solution

9. Dopamine is a drug used in the treatment of Parkinson's

disease: 

 


Which of the following statements about this compound

are correct?

A. It can exist only in optically active forms

B. One mole will react with 3 mole of  to form a

salt

NaOH

https://dl.doubtnut.com/l/_oGTgnhTM6IS7
https://dl.doubtnut.com/l/_LZ4XnWirjWvK


C. It can exist as a zwitter ion in the aqueous solution

D. It given nitroso compound on treatement with

Answer: A::B::C

Watch Video Solution

HNO2

10. Which of the following give nitrosonamine on

treatment with ?

A. 

B. 

HNO2

H3C − CH
∣

CH3

− CH2 − NH2

https://dl.doubtnut.com/l/_LZ4XnWirjWvK
https://dl.doubtnut.com/l/_XVNWo0ZNEj6N


C. 

D. 

Answer: A::C

Watch Video Solution

11. Which of the following sequence of reagent is the good

mean to furnish the conversion? 

A. 

B. 

C.  in dilute acetone, 

R − CH2OH → R − CH2NH2

KMnO4, SOCI2, NH3, Δ, NaOBr

SOCI2, NaCN, H2 /Ni

CrO3 NH3, H2, Ni

https://dl.doubtnut.com/l/_XVNWo0ZNEj6N
https://dl.doubtnut.com/l/_aSgVR7LxhsXH


D. 

Answer: A::B::C

Watch Video Solution

Cu, 300∘C, NH2, LiAiH4

12. Choose the correct comparisons of basicity:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_aSgVR7LxhsXH
https://dl.doubtnut.com/l/_rq5B4P2uM6Fq


Answer: A::B::C

Watch Video Solution

13. Which of the following arrangements are correct with

respect to the property of the compounds indicated in the

parentheses?

A. 

(Acidic strength)

B. 

C. 

D. 

Answer: A::B::C

HCOOH > CH3COOH > CH3CH2COOH

https://dl.doubtnut.com/l/_rq5B4P2uM6Fq
https://dl.doubtnut.com/l/_iUStEd3aFvXW


Watch Video Solution

14. Which of the following products are formed when 1-

propanamine is treated with ?

A. 

B. 

C. 

D. 

Answer: A::C::D

W t h Vid S l ti

NaNO2 + HCI

https://dl.doubtnut.com/l/_iUStEd3aFvXW
https://dl.doubtnut.com/l/_GwKoiphHOd8o


Watch Video Solution

15. Which of the following will give Hofmann-Bromoamide

reaction?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_GwKoiphHOd8o
https://dl.doubtnut.com/l/_ApU0JdEQpFeC


Answer: A::B::C

Watch Video Solution

16. Which of the following reactions represent major

products?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_ApU0JdEQpFeC
https://dl.doubtnut.com/l/_JKeMVHUCWvJR


17. Which of the following products will not form by

following reaction? 

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_8JzK4dmPv5Pf


18. 

Products A and B are:

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

Ph −

O

∣ ∣

C − NH2 + Ph − CH2 −

O

∣ ∣

C −
15

NH2

Θ

OH +Br2

−−−−−→ A + B

Ph − NH2

Ph − CH2

15

NH2

Ph − CH2 − NH2

Ph −
15

NH2

19. Reaction involves isocyanate as intermediate porudct:

https://dl.doubtnut.com/l/_pu2uQjhFZk56
https://dl.doubtnut.com/l/_KZGTmm1nCvKQ


A. Curtius rearrangement

B. Lossen rearrangement

C. Schmidt rearrangemnt

D. Hofmann rearrangement

Answer: A::B::C::D

Watch Video Solution

20. Consider the structures: 

 


Which of the following statements are correct?

https://dl.doubtnut.com/l/_KZGTmm1nCvKQ
https://dl.doubtnut.com/l/_noQ5eUor4TH4


A. Basic stength of II is greater than I

B. Basic strength of II is less than that of I

C. Basic strength of IV is greater than III

D. Basic strength of IV is less than that of III

Answer: A::C

Watch Video Solution

21. Which of the following give L Liebermann nitroso

reaction?

A. 

B. 

https://dl.doubtnut.com/l/_noQ5eUor4TH4
https://dl.doubtnut.com/l/_76AiJPPKnd9g


C. 

D. 

Answer: A::B

Watch Video Solution

22. Which are related with Curtius rearrangement?

A. 

B. 

C. 

D. 

NaN3

R − NH2

R −

O

∣ ∣

C − CI

R −

O

∣ ∣

C − OH

https://dl.doubtnut.com/l/_76AiJPPKnd9g
https://dl.doubtnut.com/l/_qlY3m98UEnuU


Answer: A::B::C

Watch Video Solution

23.  


The possible products are:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_qlY3m98UEnuU
https://dl.doubtnut.com/l/_a4AgCnz8fnyj


Answer: A::C

Watch Video Solution

24. Which of the following give Schiff base with aldehyde?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

CH3CH2NH2

C6H5 − CH2 − NH2

C6H5 − NH2

C6H5 − NO2

https://dl.doubtnut.com/l/_a4AgCnz8fnyj
https://dl.doubtnut.com/l/_pTeYm5jUoRRZ
https://dl.doubtnut.com/l/_M7Y2rps0B2g5


More Than One Correct (Q.26 To Q.30)

25. Which of the following give(s) aniline by reduction of

nitrobenzene?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

H2 /Pd − C

Sn + HCI

Cu + HCI

(NH4)2S

https://dl.doubtnut.com/l/_M7Y2rps0B2g5


1. Optically active amine having molecular formula 

on reaction with  produces,  optically

inative alcohol. Find out structures of amines:

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

C5H13N

NaNO2 + HCI 3∘

https://dl.doubtnut.com/l/_sR21H3uYM384


2. Find out products which are formed by the following

reaction: 

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_ZNGRp7QEXSUE


3. Which of the following is soluble in dil aqueous ?

A. 

B. 

C. 

D. 

Watch Video Solution

HCI

C6H5NH2

C6H5CH2NH2

C6H5CONH2

https://dl.doubtnut.com/l/_ZNGRp7QEXSUE
https://dl.doubtnut.com/l/_V69RvxvKlYoy


4. The structural form of a compound  is

resolvable, dissolve in dil. HCI and reacts with .

Compound A could be:

A. 

B. 

C. 

D. 

Watch Video Solution

A(C6H11N)

HNO3

5. Which of the following basically exist as dipolar ion?

https://dl.doubtnut.com/l/_Obhk9oWkdfS2
https://dl.doubtnut.com/l/_6wZUordVPirk


A. 

B. 

C. 

D. 

Watch Video Solution

https://dl.doubtnut.com/l/_6wZUordVPirk


Linked Comprehension Type

1. The conversion of an amide by reaction  and 

to primary amine that has one carbon than the strating

amide is known as Hofmann-Bromoamide reaction. 

Mechanism: 

 


Number of moles of  consumed in above reaction:

A. 1

B. 2

NaOH Br2

R −

O

∣ ∣

C − NH2

Br2 +NaOH
−−−−−−−→

or NaOBr
R − NH2 + NaBr + Na2CO3

NaOH

https://dl.doubtnut.com/l/_khQyEq4o5Nxi


C. 3

D. 4

Answer: D

Watch Video Solution

2. The conversion of an amide by reaction  and 

to primary amine that has one carbon than the strating

amide is known as Hofmann-Bromoamide reaction. 

Mechanism: 

NaOH Br2

R −

O

∣ ∣

C − NH2

Br2 +NaOH
−−−−−−−→

or NaOBr
R − NH2 + NaBr + Na2CO3

https://dl.doubtnut.com/l/_khQyEq4o5Nxi
https://dl.doubtnut.com/l/_8I4kEJwmMoQD


 


 

Find X and Y:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_8I4kEJwmMoQD


Answer: B

Watch Video Solution

3. The conversion of an amide by reaction  and 

to primary amine that has one carbon than the strating

amide is known as Hofmann-Bromoamide reaction. 

Mechanism: 

NaOH Br2

R −

O

∣ ∣

C − NH2

Br2 +NaOH
−−−−−−−→

or NaOBr
R − NH2 + NaBr + Na2CO3

https://dl.doubtnut.com/l/_8I4kEJwmMoQD
https://dl.doubtnut.com/l/_uNTp8jU8ytAC


 


A. 

B. 

https://dl.doubtnut.com/l/_uNTp8jU8ytAC


C. 

D. all of these

Answer: A

Watch Video Solution

4. Ketoxime when heated with certain reagents undergoes

rearrangement to form amides. This is known as

Backmann's rearrangement. 

 


Find out slowest step of the reaction:

https://dl.doubtnut.com/l/_uNTp8jU8ytAC
https://dl.doubtnut.com/l/_j7eZQV7fEU0Q


A. I

B. II

C. III

D. IV

Answer: B

Watch Video Solution

5. Ketoxime when heated with certain reagents undergoes

rearrangement to form amides. This is known as

Backmann's rearrangement. 

 


https://dl.doubtnut.com/l/_j7eZQV7fEU0Q
https://dl.doubtnut.com/l/_p4zoK3gDfea3


 

Find out (X):

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ph −

O

∣ ∣

C − NH − Ph

https://dl.doubtnut.com/l/_p4zoK3gDfea3
https://dl.doubtnut.com/l/_Dt3g0qNP5u9Q


6. Ketoxime when heated with certain reagents undergoes

rearrangement to form amides. This is known as

Backmann's rearrangement. 

 


 

Find out (X) of the reaction:

A. 

https://dl.doubtnut.com/l/_Dt3g0qNP5u9Q


B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Dt3g0qNP5u9Q


7.  


Which of the following amines cannot be prepared by

path-I?

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_rfmxRaNkYC26


Watch Video Solution

8.  


Consider path II, choose the major product for 1 and 2: 

A. 

B. 

C. 

1 − Y , 2 − X

1 − X, 2 − Y

1 − X, 2 − X

https://dl.doubtnut.com/l/_rfmxRaNkYC26
https://dl.doubtnut.com/l/_p0aYhAypfyfL


D. 

Answer: A

Watch Video Solution

1 − Y , 2 − Y

9.  


In the path I, if 

https://dl.doubtnut.com/l/_p0aYhAypfyfL
https://dl.doubtnut.com/l/_2F1IHT8bA2Ub


 then the

amine finally formed is :

A. 

B. 

C. racemic mixture of a and b

D. none of these

Answer: B

https://dl.doubtnut.com/l/_2F1IHT8bA2Ub


Watch Video Solution

10. An organic compound 'A' has molecular formula

 and it can be resolved into enatiomers. A does

not decolourise bromine water solution. A on reflxing with

dilute  yields another resolable compound 

 which gives effervescence with . B

on treatemet with  yields  on heating

with concentrated  yields ester .

Compound A on reduction with , followed by

treatement of  yields following compound: 


C9H13NO

H2SO4

B(C9H14O3) NaHCO3

NaBH4 C(C9H16O3)

H2O4 D(C9H14O2)

LiAIH4

H2SO4

https://dl.doubtnut.com/l/_2F1IHT8bA2Ub
https://dl.doubtnut.com/l/_0OyyyLAoDRiZ


 


Find out structure of compound 'A' :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_0OyyyLAoDRiZ


Answer: B

Watch Video Solution

11. An organic compound 'A' has molecular formula

 and it can be resolved into enatiomers. A does

not decolourise bromine water solution. A on reflxing with

dilute  yields another resolable compound 

 which gives effervescence with . B

on treatemet with  yields  on heating

with concentrated  yields ester .

Compound A on reduction with , followed by

treatement of  yields following compound: 


C9H13NO

H2SO4

B(C9H14O3) NaHCO3

NaBH4 C(C9H16O3)

H2O4 D(C9H14O2)

LiAIH4

H2SO4

https://dl.doubtnut.com/l/_0OyyyLAoDRiZ
https://dl.doubtnut.com/l/_xh0Z48jZMk3Z


 


The sweet smelling neutral compound D is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_xh0Z48jZMk3Z


Answer: C

Watch Video Solution

12. An organic compound 'A' has molecular formula

 and it can be resolved into enatiomers. A does

not decolourise bromine water solution. A on reflxing with

dilute  yields another resolable compound 

 which gives effervescence with . B

on treatemet with  yields  on heating

with concentrated  yields ester .

Compound A on reduction with , followed by

treatement of  yields following compound: 


C9H13NO

H2SO4

B(C9H14O3) NaHCO3

NaBH4 C(C9H16O3)

H2O4 D(C9H14O2)

LiAIH4

H2SO4

https://dl.doubtnut.com/l/_xh0Z48jZMk3Z
https://dl.doubtnut.com/l/_XTgs23HKXukh


 


Due to reduction of optically pure 'B' two isomeric product

'C' form. Isomeric product 'C' are:

A. Enantiomers

B. Diastereomers

C. Position isomers

D. Functional isomers

https://dl.doubtnut.com/l/_XTgs23HKXukh


Answer: B

Watch Video Solution

13. When an primary aromatic amine is treated with

 at , a diazonium salt is formed

and the reaction is called diazo reaction. In this reaction

mineral acid must be added to prevent the coulping

reaction of diazonium salt with excess of aryl amine.

diazonium salt is highly in the synthesis of number of

coloured dyes. 

For the following diazonium ion the decreasing order of

reactivity of these ion in azo-coupling reaction: 

NaNO2 + HCI 0∘ − 5∘C

https://dl.doubtnut.com/l/_XTgs23HKXukh
https://dl.doubtnut.com/l/_1wwPzLYgnKT0


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Q > S > R > P

Q > S > P > R

P > Q > R > S

S > R > Q > P

14. When an primary aromatic amine is treated with

 at , a diazonium salt is formed

and the reaction is called diazo reaction. In this reaction

mineral acid must be added to prevent the coulping

reaction of diazonium salt with excess of aryl amine.

diazonium salt is highly in the synthesis of number of

NaNO2 + HCI 0∘ − 5∘C

https://dl.doubtnut.com/l/_1wwPzLYgnKT0
https://dl.doubtnut.com/l/_8IXxSPhqz8OT


coloured dyes. 

In the given reaction. 

 


The final product is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_8IXxSPhqz8OT


Answer: A

Watch Video Solution

15. When an primary aromatic amine is treated with

 at , a diazonium salt is formed

and the reaction is called diazo reaction. In this reaction

mineral acid must be added to prevent the coulping

reaction of diazonium salt with excess of aryl amine.

diazonium salt is highly in the synthesis of number of

coloured dyes. 

When 2,4-dinitrophenol react with  at 

 followed by reaction with anisole, a coloured

compound is formed which can be given as:

NaNO2 + HCI 0∘ − 5∘C

NaNO2 + HCI

5∘C

https://dl.doubtnut.com/l/_8IXxSPhqz8OT
https://dl.doubtnut.com/l/_eVJ3t1iTek8I


Match The Column

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_eVJ3t1iTek8I


1. Match the following columns

Watch Video Solution

2. Match the following columns

https://dl.doubtnut.com/l/_UlAjA2acMZaY
https://dl.doubtnut.com/l/_2IG9oQMeTVPB


Watch Video Solution

3. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_2IG9oQMeTVPB
https://dl.doubtnut.com/l/_QgBHcGNgeu7p


4. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_FsQ3iyEo6Mgy


5. Match the following columns

Watch Video Solution

6. Match the following columns

W t h Vid S l ti

https://dl.doubtnut.com/l/_ePNXiuxgLHan
https://dl.doubtnut.com/l/_YSmZYtvihSh6


Watch Video Solution

7. Match the following columns

Watch Video Solution

8. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_YSmZYtvihSh6
https://dl.doubtnut.com/l/_YcvDB1hWpQNo
https://dl.doubtnut.com/l/_XmZYGrTx9KpX


Integer Answer Type Problems

9. Match the following columns

Watch Video Solution

1. Find out number of reaction which involve electron

deficient nitrogen during reaction mechanism. 

https://dl.doubtnut.com/l/_XmZYGrTx9KpX
https://dl.doubtnut.com/l/_kIvLHiz40oRp
https://dl.doubtnut.com/l/_XrMAFCyG6TOI


Watch Video Solution

2. Examine the structal formules of following compounds

and identify how many compounds are more basic than

aniline. 

W t h Vid S l ti

https://dl.doubtnut.com/l/_XrMAFCyG6TOI
https://dl.doubtnut.com/l/_ZvJi5UruOgdd


Watch Video Solution

3. Of the following amines how many can give carbyl amine

reaction? 

Watch Video Solution

4. Of the following reactions, how many reaction, are used

for the preparation of amines? 

(a)  (b)  


(c)  (d) 

R − C ≡ N
LiAIh4

−−−→ R −

O

∣ ∣

C − NH2

LiAIH4

−−−−→

R −

O

∣

C − NH2
Br2 +

Θ

OH
−−−−−→

https://dl.doubtnut.com/l/_ZvJi5UruOgdd
https://dl.doubtnut.com/l/_sPoRXCSSsxQF
https://dl.doubtnut.com/l/_KeYHfhDgcODH


 


 


(g)  (h) 

Watch Video Solution

R −

O

∣ ∣

C − CH3 + H3C − NO2

NaOH
−−−→

R −

O

∣ ∣

C − NH2

P2O5

−−→
D

R − CH2 − NO2

H2 ,Ni
−−−→

5. Of the following amines how many can be separately by

Hofmann's mustard oil reaction? 

Watch Video Solution

https://dl.doubtnut.com/l/_KeYHfhDgcODH
https://dl.doubtnut.com/l/_QKQLWzaCEtzg


Subjective Type Problems

1. Find out finla products of following reactions: 

Watch Video Solution

2. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_QKQLWzaCEtzg
https://dl.doubtnut.com/l/_9Gh4cVCVegCU
https://dl.doubtnut.com/l/_lqt29iuOtolX


Watch Video Solution

3. Match the following columns

Watch Video Solution

4. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_lqt29iuOtolX
https://dl.doubtnut.com/l/_fgCGsNdWjJhh
https://dl.doubtnut.com/l/_J8yt95J69ME6


5. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_J8yt95J69ME6
https://dl.doubtnut.com/l/_o0dFRrdWqTyU

